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BASIC MATHEMATICS (BCA 104)
Duration: 2 hours Marks: 50

lnstruction: 1) Allquesfions are compulsory
2) Figures to the right indicate full marks
3) Sfarf each new question on fresh page
4) Logarithmic tables will be provided if required.

Q1.A) Answer the fol lowing:

a) EValu-ate (tanEa/ cot75o) ='- 
--

b) Evaluate sin 0 cot 0 -

c )  F ind modulus o f  z ,  z  =  3  -  i
d)  Wri te the conjugate of  3i  (2 + 3i)
e) Find per imeter of  square each side is of  length 6 cm

Q1.B) Answer the fol lowing:

a)  F ind determinant  o f  A 11 3  I=lE -11

(5X1.=5Marks)

(5X1=5 M arks)

b) Find 5th term in an A. P. ser ies with 1 ' t  term = 3 and common di f feren ce = 2
c) Find 6th term in an G.P. ser ies with L ' t  term = 4 and common rat io = 3
d) Using log, f ind x where 3'  = 27'
e) Mult ip ly 3xy and 6*yt

a2.) Answer any 2: (5X2=10 Mark:;)

b) Using determinant solve the system of equat ions: 5x + 7y -  -  2 and 4x + 6y = 4.

- c) Mrs. Naik has a saua-fij plitt-with meeisLFembnt aiihowri in the fig.-She w'ants to construct a
house in middle ofthe plot.  A garden is developed around the house. Find the total cost of
developing a garden around the house at rate of Rs 60 per metre .

. - - - - - - - - - - -25  m - - - - - - - - - - - - -

a) rf lr o =11 
l] ,tino A2 - 3A - 2r



Q3.) Answer any 2: (5X2=10 Marks)

a.x - at
a) Find l im 

"-o--;
b) Examine the continuity of f at x = 2 for f(xl = 2x ; it x < 2

=2 ; i t x=2
=x2  i i f  x>  2

lff is discontinuous, redefine the function.

c) Find domain and range for the function , v = 'l a=7

Q4.) Answer -ny 2: (5X2=10 Mark:;) -

a)lntegrate y w.r.t  x wherey=x3e2"

b) Integrate y w.r.t x where y =x sec'x

c)Find the equation of line passing through the point (7, - 3) and perpendicular to the line

passing which is passing through points ( - t , 2 | and ( 5 , 11)

Q5.) Answer any 2: (5X2=10 Marks)

a) Using De Moive/s Theorem, find (f + r/3i )'
, + i h

b) lf x + iy = 
-H, prove that x2 + y2 = 1

c)Differentiate y w.r.t  x such that y = (2x3 + log x) (cosx+sinx)


